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. 6x5=230

Answer any FIVE ¢ uestions N
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o B = [ SFI6H C~»,2&)"(°'°t8)+(:'2)('9) 5)
1. Find f(34) using the following table” ' L=

]( ' 7
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using the following tale n
v

A7) and ["(747)

N
*i’{m Coven 40 ed) = siswox s

R |
(+1)+ 2+ (F)
wse of the matrix without finding its ¢

, e :
3, 2,4 A

leterminant

g -3 4 22 | 5 93 19

g

Ganss-Seidal method to solve the cquations

W0e+2y+2 =Y
' vz o 0., 9,‘?'35
\}q/ o+ 2Ny —22 = 44 / Y= .6/ 2.9
—9n +3y+ 102 = 2%
27 0

4\‘7 X 09% )
10 d,. J;,ez [ )
Vs one third rulbwitirstep [eg 1=1. Give the result correct

L . N
5. Bvaluate = by using Simpsor
W ket T G g 47 91579510 vt +9¢))
29 1PL0 three points of decimal, 3 R At Is5 T Do }'P ’L(f VIR (4 g
J _4,'32“ shso- L [ aqnpr gL )4 0 gy o+ (0751 1 0655+ 0r02 0101 21 axIDTE(0°2
£ 6. Find a réal root of ¥ éLe“c?ﬁ“al{?i‘tgl %;3 Z 95 —5=0,using Regula-falsi method, correct to three (io;)n?;% %g
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Full Marks: 40

[Practical = 30

Answer any FIVE questions

1. Using suitable interpolati

to 5 significant figures:-

= |+0093c¢Y
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TDPH 6th Semester Practical Examination-2020

ISET-'ZJ

MATHEMATICS

Paper-VIIT (2014 Syllabus)
Group-A (Nuincrical Analysis)

Time: 3 hours

Viva Voce = 05 Note Book = 05]

6 x5 =230
1433{4’/#’4, P

on formula find the value of y at 2 = 12 from the following data, correct
dot uav 4+ =) oy UUTD(U2) Py p #U-)-KU-D) 44,

[ .
072699 + LI TEl 01 4 9 )

+ 00 (oY 5228

= I+ 0620 \lhlze 5 osn(=05) 4.
X 18 =

0.-0009 %7 -

10 T , 22 2] Cospostsyas
1,00000 | 1.146128 | 1.255273 | 1.342427 | 1.414973 24 boFho.

= 1:078926979

>zt [0 53K ::o-ozgg
14

2. The angle of rotation ¢ (in radians) of a rod is given for various~values of time ‘¢’ in seconds. I'inc
the angular velocity and acceleration of the rod, when ¢ = 9 seconds, correct to4-significant-fzures

| ‘vi ‘b%% gc% = FL [npb—v'*'i"v&b—t * 3‘ a®>Bn-» +’€{ d“hr(rﬂ ‘
T\' &‘m“’f@)} Q)\Ip t 1 , 3 l 5 J 7 [ 941' ;.LTJ,%Ié’—io @*3'537
g

-(*3-’721} 0€93- 0—2?‘:’ j

’ v ~ 6 [0.0000 | 1.0986 | 1.6094 | 1.9457 | 2.1972 |
2 AL [0 297188 .'fo{_(%; L[4, ,+ B+ La¥ay — J= Z[- 0 ookt 01993 #(° i}z?g’)

. A river is 80 ft wide. The depth ‘d’ in ft at a’distance = ft from one hanlk is given by the foilowing

.0 table: (| -+ %¢£}
y(y+ >+ 17 37)) PR

giéf@*wmca $12 LN 1020304050 60|70 |80
3 g+ 8) o d|{o|4]7[9f12]13]14] 8|3
.}% E 7’?'9 2 /{a A '[1__ «(6 //L, 0()’ (/( d’;) Jg

Estimate the ared of The tross section of the river.

4. Using Regula Falsi method find a real root of the equation xze® = cosz, correct to 4 signiﬁcz,mr. )
@, - (A -840 @n) 0r st O +]1+ 55132

7‘2(7\ n) ~f@n) .
5. Solve the following system of equations by Gauss elimination method:

—

figures. Aieai™

s 8 211
{1 mod 4 = 538G 1% : oS
1203+ 621 +320 = 6 / 5'\507/5} je§#F@, - )7

6. Find the inverse of the following matrix by Gauss-Jordan elimination method:

L= '
2.8 24l -g 5 L
el - -9
0 4 3 9. -20 ¥ 15
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MATHEMATICS

Paper-VIII (2014 Syllabus)
Group-A (Numerical Analysis)
[Full Marks: 40 Time: 3 hours
Note Book = 05]

[Practical = 30 Viva Voce = 05
284 ,
5, % 5 =230
Auswer any FIVE questions 5/)’67 2 Pl
j o b 0
1. Calculate from the following table the value of y wlwn a = 102. L ¥ 3
\ T w30 062 [100.0 [ 104.2 | 1087
/ o | 11.38 | 12.80 | 14.70 | 17.07 | 19.91
2. Solve the following system of equations by Gauss Jordon method: _y
2my + 2xg +4duz = 18 1‘6“"38'9)(’6
v+ 323+ 2 = 13 g 1: \/f”/
3 +3 e d'ﬂﬂlf"‘(’” Y
x3 + T + oT2 (~0‘ﬂﬂ/, P /

b (e by %@3 Fay

d
4 at T = 1 04 for the functlon 1{ i ) ;,rlven in the following table. 1
KS'”

3. Fmd — and
- a2 ,\ '
[cmg {ﬂh@»ﬂf‘i Wk 5 "”""’9}("””)

0.96 098 1.02 1.04

S 10.7825 | 0.7739 0.7601 0.7563 | 0.7473 C & ;E:?
0’ 6’1/

-

4. Evaluate approximately, by Trapezoidal rule, the integral /b /5’56
k

/1(4$ — 32%)dzx
J0 2 @ ’ 6 %- }b

by taking 10 intervals.
5. Find a real root of the equation 23 —x—1 = 0 correct to 3 places after decimal using Newton-Raphson

method. v 32Y

6. Evaluate y(1.2) using Runge-IKKutta method of order 2 (taking step length h = 0.1) for the initial

value problem

]
Doyt y()=0
dr
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TDPH 6th Semester Practical Examination-2020
SIET-4
MATHEMATICS

Paper-VIIT (2014 Syllabus)
Group-A (Numerical Analysis)
Full Marks: 40 Time: 3 hours

Viva Voce = 05 Note Book = 05]

Answer any FIVE questions 6 x5 =30
L. Calculate from the following table the value of y when z = 1.6 \
i
i 1.0 1.5 2.0 2.5 3.0 ‘T/’\%M
y | 0.11246 | 0.14032 | 0.16800 | 0.19547 | 0.22270 | A+

9.

Find tlie inverse of the following matrix by Gauss elimination method:

W = DN
=W N
W N =

Calculate by Simpson’s one-third rule the value of

USSR ¢ My Gk S
' 1
/ <.L + —) dx
1.2 L .

correct upto 2 significant figures. taking 4 intervals.
Find a real root of the equation 2% —4x — 9 = 0 correct to 3 places after decimal using bisection
method. ;
Solve the following system of equations by Gauss elimination method:

2¢1 + 329+ 223 = 2

10:[3], + 3.’172 + 4233 = 16
3x1 +6x2+ 223 = —6

Given the table of y = sinhz with spacing h = 0.1. Find the values of the derivatives ¥/ 4 at the

point x = 0.0

05 I
0.52110

0.4
0.41075

0.3
0.30452

0.2
0.20134

0.1
0.10017

T 0.0
y | 0.00000




TDPH 6th Semester Practical Examination-2020
N
[.& MATHEMATICS

Paper-VIII (2014 Syllabus)
Group-A (Numerical Analysis)

Full Marks: 40 Time: 3 hours
[Practical = 30 Viva Voce = 05 Note Book = 03]

Answer any FIVE questions 6 x5 =230

., d d* .
1. Find < and é at = = 1.35 for the function y = f(x) given in the following table.

dv dx

€ 1.0 1.1 1.2 1.3 1.4
f17.651 | 8.549 | 9.254 0.532 | 9.751

2 dx )
2. Evaluatc/ 1_: - by Weddle's rale on taking 12 sub-intervals.
o LTL7
3. Given
v 112 3] 4 5 6
T11(8[27]64] 125216

Find f(1.7).

4 Find a real root of the equation z® + 2 — 5 = 0 correct to 3 places after decimal using Iteration

method.
5. Find the inverse of the following matrix without finding its determinant
-2 4 8
|—4 18 -16
-6 2 -20]

6. Apply Gauss-Scidal method to solve the cquations

e—yt+z =
z+3y—22 =
r42y+3z =

= ~ o
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Mathematics

Paper-VIIl (2014 Syllabus)
Group-A (Numerical Analysis)

Full Marks-40 Time: 3 hours

[Numerical Analysis=30, Viva Voce=05, Note Book=05]
Answer any five questions:- 6x5=30
L1622
1) Using suitable interpolation formula, find the value off(Z.i) from the following table, correct to fgura &
“decimal places. 12 4042+ 1
) ?/” % 1.2 14 16 18 2.0
- fx) 3.32012 4.05520 4.95303 6.04965 7.38906
2) Find the area of the region bounded by x -axis, x =4, x =10 and y = log%, correct to four significant [/ , » ¢>+ ..
figures. &-089¢ = : .
3) Find the smallest positive root of the equatlon(l + x2) tanx — 3x = 0, correct to four significant /ot
figures, by iteration process. 6-9 291 23C . I+ 2+22F 2
4) Solve the following system of equations, by Gauss — Seidel iteration method: Q'Fil N
x+y=-32=6~"_(2.3% -0 3%, - )+SY)
8x—y+z=18 "
2x+5y—2z=3 -
5) Find the inverse of the following matrix, by using Gauss-Elimination method: 2~
2 -2 41 7_1 3 _¢8 =EH
2 3 2|z S O
-1 4 -1 e Y T
/0"07 & 2’.11:3’ e L\’?Q > yl’ -j// S//I ki
6) Evaluate y(1 1), y(l 2) and y(1. 3) using Runge-Kutta method of order 4 for the initial value
-2Ls dy _ =0
pa-2 problem. = x?+y% y() = 2+t (TL

* K kK
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Full Marks-40

TDPH 6% Semester Practical Examination-2019

Mathematics

Paper-Vlll (2014 Syllabus)
Group-A (Numerical Analysis)

[Numerical Analysis=30,

Answer any five questions:-

1) Using suitsble interp

Viva Voce=05,

SET-2 |

Time: 3 hours

Note Book=05]

- 3y Yo 41953

olation formula, find the value of £(1.25) from the following table, correct to

6x5=30

0'9!

five significant figures.
x 1.0 1.5 2.0 2.5 3.0 35
f(x) 2.71828 4.48169 7.38906 12.18249 20.08554 33.11545

2) Using suitable formula find the value of % and

d
dxl

ROULID by ,
2°Y ~t x = 0.45 from the following table, correct to R
Crer) + 240%3)

& -~

three decimal places.
il x| 0.0 0.1 0.2 0.3 0.4 05 |
Nial y [ 0.00000 0.10017 0.20134 0.30452 0.41075 0.52110 J
3) Find the smallest positive root of the equation: xtanx + 2x2 = 2.5 correct to four significant figures,
by bisection method. 686 911'7 PGPSR
4) Solve the following system of equations, by Gauss —Jordan method:
2x, + 4% +x3 =3, a2 DF l’
272 }) =
3x1 + 2x2 = ZX3 = _2,( '
351"x2'*'x3‘:6 . G Eliminati
5) Find the inverse of the following matrix, by Gauss-Elimination method: e o
-~
2 2 '—3 N -{ n \ ,2’ 7
-3 2 2 5 2 =2\
2 -3 2 L2
: d
6) Use Runge-Kutta method of order two to find y (0.2)and y (0.4), given that yd_i’ =y2-x,
M. — .
c)p—";';;f y(0) =2, by taking h = 0.2 s 300 2‘9‘9g39
7
4 \\

»
-
»

)
j-{'aa-c T 3

W



TDPH 6™ Semester Practical Examination-2019

Mathematics

Paper-VIll (2014 Syllabus)
Group-A (Numerical Analysis)

o Time: 3 hours

Full Marks-40

[Numerical Analysis=30, Viva Voce=05, 'Note Book=05]

L \
Answer any five questions:- 5 '397 %’5{7 6x5=30
1) Using suitable interpolation formula; find the value of £(1.5) from the following data, correct to five ¢ aacl
significant figures. TR
% 1 2.2 3¢ 4 g 6
f) 0.0000 0.6931 1.0986 1.3863 1.6094 1.7918

ok
2) Complete the value of x f

1 ke LA 5 : . A
&AM-37 dittarence formula for inverse interpolation, correct to four significant figures:

. 23

X 3.5

4.0

4.8

56 1]

y 0.5441

0.6020

0.6812

5 0.7482 J

7 : ,
ory = 0.6742 from the following data, by using Newton's divided

/
11,,+1-c7—f-,i

3) The angle of rotation '8’ (radians) of a rod is given for various values of the time ‘t’ in seconds. Find

ation of the rod when t=1.2 seconds. Correct to three

R e

the angular velocity and angular acceler\
significant figures. 7% = § (4% afat (1) 4 ph+ (1) »
t 0.0 0.4 0.8 12 -
0 0.000 0.493 2.022 4,666
lvasid -l

T 3
4) Using Simpson’si rule evaluate fo 2 eSn*dy correct to four decimal places.= 31 04 3;,’54.
l g ‘ . ‘ +’j 23 - |
5) Find a positive root of the equation: xe* = Cosx, correct to 4 decimal places: o577 o 1+1% =
& | ; |
6) Find the inverse of the following matrix by Gauss - Elimination method:

LI I Rk T 2T
9°. k2P T‘v o /o’)
232 e gy

) 5
% U S

EEE )
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TDPH 6™ Semester Practical Examination-2019

Mathematics

Paper-VIll (2014 Syllabus)
Group-A (Numerical Analysis)

Time: 3 hours

Full Marks-40
Note Book=05]

Viva Voce=05,

[Numerical Analysis=30,
6x5=30

Answer any five questions:-

I
1) Using suitable interpolation formula, find the value off(6') correct to three decimal places. Giv
that £(2) = 0.994177, f(5) = 2.308408, f(7) = 2.791008, f(10) = 3.302585, f(12) = 3.564088

en

2) Find the real root of the equation: 2x — 3 Cosx = 1.85, by the method of inverse interpolation,
)

5#11°383 correct to six significant figures. 131072 _

‘.‘\
i

. 0.7 = e i
3) Using Weddle's rule, calculate [, VX e~*dx, correct to four significant figures. ;1 4 22 +¢4 -~
2 =

Tz 0o ¥YyY3
4) Solve the following system of equations by Gauss-Jordan’s method:
240

8x1 i 3x2 + ZX3 = 20, P
11x, — x5 + 42, = 33, (3.211)

IZX3 + 6x1 + 3x2 =36
5) Find the inverse of the following matrix by Gauss — Elimination method:
< 228y
[2 1 0] _T9 -t 1
4‘ 3 1 N -3 2 -2
1 11 ‘{ i -1 2

o- W I ~2ye3!
< z o <z °'L1 bﬁ'
6) Evaluate y (1.1), y (1.2) and y (1.3) using Runge-Kutta method of order four for the initial value

33-2¢S problem: Z—i =x2+y?% y(1) =0 2R

* K Kk

7,18
.r On = % I(‘_’),'ﬁ‘j,\)—-t 9(,\3!’935479” 3,'"0—»-'*‘)""_5_'7‘-‘/,‘_‘)

e
—e- (?1_%‘>'9'f j% s tbb*- = Ffiyk'ﬂ‘riyk'.yj)
- ‘5("7,)-1' 774‘ b’s--{‘""P 70\»';}
+ 2( oGt - ¢ 7,\,‘)//’

2 ?2'9/
st 3 - Lagel

3



TDPH 6™ Semester Practical Examination-2019

Mathematics

Paper-VIIl (2014 Syllabus)
Group-A (Numerical Analysis)

Full Marks-40 Time: 3 hours

_[Nu_merical Analysis=30, Viva Voce=05, Note Book=05]

Answer any five questions:- '191’41 241 6x5=30
»10
1) Using suitable interpolation formula, find the value off(lz) from the following table, correct to four
_@>7  decimal places. \f? o 2 2t “
N x il 5] - 7.1 &l 9 11
f(x) 0.47712 O.'69‘897 0.84510 0.95424 1.04139
-t °) ‘M Y B R ES
2) Using suitable formulae find the value of d—and — at X = O 05 from the following table.
- . : (1+t}1°z+(’/’7-/)f/
o o 0.0 0.1 0.2 .03 04 | 05

© (R 0.00000 0.10007 0.20134 0.30452 041075 | 0.52110 J

e

m = 1 Ig 5 I 3774’ e ,

3) Eva!uatef 24/Sinx dx correct to five significant ﬁgures by Trapezodlal rule. [ +.‘Z{ 2F

4) Find a real root of the equation logex = Cosx, correct to five decimal places, by Newton-Raphson
method. 1-30Z9¢C . Py, L’,_/l

5) Solve the following system of equations by Gauss-Elimination method:

3x+4y+22=1, C(}-z.?’) :77&9
2y+z+5x=4 ‘
2z+2x+3y=2

6) Find the inverse of the following matrix by Gauss —Jordon method:

2 2 4 et
-7 v, 2 N
[1 3 2] L/l 7>
3.1.3 ~/L,v v, o
*353 "/”_'



TDPH 6™ Semester Practical Examination-2019

Mathematics

Paper-VIIl (2014 Syllahus)
Group-A (Numerical Analysis)

Time: 3 hours

Full Marks-40
[Numerical Analysis=30, Viva Voce=05, Note Book=05]

Answer any five questions:- A 6x5 30
g |H| ;
= | 2_r" s
1) Using suitable interpolation formula, find the value of f(6) correct to five significant figures. Given

f(3) = 0.62149, f(5) = 0.91047, f(8) =1.17635, f(10) = 1. 30259 f(12) = 1.40573
J .L + Q'H“ |11¢

2) The population of a town is given below: [ 669)-
[~ “Year 1971 1981 1991 2001 [ 2011 ]
Population
‘7(in thousand) e 39.65 58.81 77.21 I 94.61 /
Estimate the rate of growth of population in 2010.
22 b ’
or\ , jrr R0 b P

3) Find a real root of the equation:
100x = 21 Sin (x + 0.5), correct to four decimal places, by Iteration Process

4) Solve the following system of equations by Gauss-Seidal iteration method:
9x; — 3%, + 2x3 = 23, C'} e n
6x1 + 3x; + 14x3 = 38, /7, ) t L/
4x1 + 12x2 X3 = 35

5) Find the inverse of the following matrlx by Gauss —Jordon method
2 1 o 2
[4 3 1
171 41 _\ ,L

6) Use Runge-Kutta method of order two to find y (0 2) and y (0.4) given that y =y2ax

y(0) = 2, by taking 4=0.2 b Q""5l“= ™ a2 '3F(98
276



TDPH 6" Semester Practical Examination-2019

Mathematics

paper-Vill (2014 Syllabus)
Group-A (Numerical Analysis)

Time: 3 hours

full Marks-40

Viva Voce=05, Note Book=05]

[Numerical Analysis=30,

Answer any five questions:- \ 4o 6x5=30
Anh
7 A ,
1) Compute the value of x for y = 1.686479, correct to three significant figures, from the following
table:
x | o4s | 052 0.61 0.63
y 1616074 | 1.682028 | 1840431 1.877610 }
f\/
~ —\ToNe X SR \lrfﬂr)qf(li+ 2~
2) Find a real root of the equation: 2x — 3 Cosx = 1.85, correct to five significant figures. 2
g7 T quﬁfr)&u
3) The angle of rgtation ' (radians) of aj‘od is given for various values of the time ‘t’ in seconds. Find
the angular velocity and angular acceleration of the rod when t=1.2 seconds. Y, /
oo\ 0.0 | 0.4 | 0.8 1:2 (7*/) 1 ;,'P/f’f’l)"/’ 4
Ve | 0000 | o043 | . 202 4.666 e
4) Using Weddle’s rule, calcul 07 [x e7*d ignifi i 5L 3 \J-'f/
ing Weddle’s rule, calculate fo.s  e~*dx, correct to four significant figures. |4 Y, B e e
oL 0_UET :
5) Solve the following system of equation by Gauss-Jordan method:(
8x, — 3%, + 2%3 = 20, ) g/Q«y gy

11x2 — X3 + 4-x1 = 33,
1ZX3 + 6x1 + BXZ =36

6) Find the inverse of the following matrix by Gauss — Elimination method:

2.3 =1
\4 4 —X = {4 o 7); ’l‘f’?
2 -3 1
* % Kk —Ll r‘l/}‘ “y/'e[
bk
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TDPH 6" Semester Practical Examination, 2018

Mathematics , Paper VIII,( 2014- Syllabus)
Group—-A
ho
Full marks,SO) Time 3 hours
The figures in the margin indicate full marks. 3 £
p Answer any five questions. no . E
[ Numerical Analysis= 46’+ Viva-voce=05 + practical note book=05;Total =587
Set -1 6 20
(sX5=40)

1. The area A of acircle of diameter d is given for the following values :

% Q‘Q d 80 85

J+o-t73
90 95 100

A 5026 5674

6362 7088 7854

Calculate the area of a circle of diameter 105.

2. Flnd o and 3 2 at x=1.35 up to four significant figures from the following table:

X 1.0 2.0 1.2 1.3 T4 geners] [0+ 2F 4
1.?84

i
"@ vy 7.651 8.549 9.254 9.532 9.751 ‘ |
30’
3. Evaluate J“"‘

Tix7 » DY Using weddle’s rule,taking 12 int’er,veluls?zlci:lécimal places.

2

0

TP AR
4. Find a real root of the equation 2x —logx - 6=0, using Regula-falsi method correct to three

-+ Y
decimal places. 2.9 KL 2

-2 4 8

| ~ )z
5. Find the inverse of the Matrix | —4 18 —16 ’ 7 95 o (7
-6 2 =20

H
7{)5 , O ~ L’/Q'>
without finding its determinant. !

6. using Runge-Kutta method of order 4, compute y(.2) from 10dy/dx -x +y , y(0)= 2+ (/
taking h=0.1



TDPH 6" Semester Practical Examination ,2018

[+ 4]+

Mathematics , Paper Vill,( 2014- Syllabus)
Group—A

1o

Full marks 58, Time 3 hours
The figures in the margin indicate full marks.

30 Answer any five questions.
[ Numerical Analysis=40"+ Viva-voce=05 + practical note book=05;Total =50]

A

Lo

Set-1V . L 20
(5M=A'07
1. Find the value of Cos 1.825 using the values given in the table below:
X 1.70 1.74 - 1.78 1.82 1.86
sinx 0.9916 0.9857 0.9781 0.9691 0.9584

=7 25134 %

Z.. Find the 1* and 2" derivative of f(x) at x=1. 5 from the following table:

—

X 15 2.0 2.5 3.0 35 2.0 /
f(x) 3.375 7.000 13.625 24.000 38375 | 59.000
b"’ G) ‘7”': f—)-'éééz
3. Using Newton-Raphson method, find the real root of x logiox =1.2 correct to five decimal
places. Az 2 9"7 b6
3 2 4 1
Pl O
4. Find the inverse of the matrix | 2 1 1 /L/ /g o
L - e W e
without finding its determinant. : - &
lve the equati */s ;75 7t
5. Apply Gauss-Jordan method to solve the equations
x+ y+ z=9
2x-3y+4z=13 ( ,/ 5/§)

Using diagonal matrix form.

C/’b, ’/S)

t/z/ 6/

3x+ 4y +5z =40,
6. Find the inverse of the matrix

without finding its determinant.

d
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30 Answer any five questions. L0
[ Numerical Analysis=48"+ Viva-voce=05 + practical note book=05;Total =56]
Set - Vili b
(5X8=40]

1. Find the distance moved by a particle and its acceleration at the end of 4 seconds,if the time

verses velocity data is as follows:

RESSNGET e

B T 2 )

2. Find first derivative of f(k) atx=0.1&x=0.3 \A//H'efe"'f(x)'is g{ven By

X 1.0 1.1 1.2 TE3HE A A 1.5 1.6

f(x) 7.989 | 8.403 |8.781 9.129 9.451 9.750 10.031

2x

dx, using Trapzoidal rule with 6 intervals( ie h=0.2).

2

2
3. Evalute the integral [ o
x

4. Evaluate 30~1/5 correct to four decimal places by Newton-Raphson method
5. Solve Xx3+x;+x3=1

3X;+ X2 —3X3 =5
X, -2%; — 5x3 =10. By Gauss-Jardan method. [ Use diagonal matrix form]

6.. Apply Runge-Kutta methodof fourth order to find an approximate value of y for x=0.2

given that dy/dx =x +y* and y =1 where x =0.



